LAT SEPTEMBER -2024
CLASS-4 (ALL SUBJECTS)
ANSWER KEY
ENGLISH

SYLLABUS:

1. Why

2. Alice in wonderland

3. Don’t be Afraid of the Dark

Note: The syllabus is taken from the month of August.

1.Read the following lines and answer the given questions.

"Rohan has a pet dog named Max.
Max is very friendly and loves to play. "

Q1. What might happen if Max is very friendly ?

A) He will bite everyone.

B)He will play with everyone.

C)He will run away..

D)He will sleep all day.

Ans: (B)

Explanation: Because he is friendly. So answer is (B).

Competency is to locate information.

Learning outcome is responding in writing in english to questions based on day today life
experiences.

2. Read the lines and answer the questions.
"Rahul always shares his toys with his friends. He never says no to anyone."

Q2. What is Rahul known for?

A) Being kind

B) Being selfish

c) Being happy

D) Being sad

Ans: (A)

Explanation- Because he shares the toys. So answer is A.
Competency : Reading and locate the information.

Learning outcomes: Identifies the main ideas

Q3. Who said- :0Oh , my eyes and whiskers?How late it's getting! " ?



(A) The rabbit

(B) Alice

(C) Robinson Crusoe

(D) Tortoise

Ans: (B)

Explanation-Based on understanding of textual content.

Competency is to locate information .

Learning outcome is responding in writing in english to questions based on day today life
experiences.

Q4. Choose the correct noun to complete the sentence. "The of the mountain

was covered in snow".

(A) Forest

(B) River

(C) Peak

(D) Valley

Ans: (c) Peak.

Expalanation- Out of all the four options ,peak is the correct word.
Competency is evaluate and reflect.

Learning outcomes is uses of noun.

Q5. Read the lines and answer the question.

"The girl was very sad. She lost her favorite toy." The word "favorite" is an or a :.
(A) Noun

(B) Article

(c) Preposition

(D) Adjective

Ans: (D)

Explanation- because favourite is an adjective.

Competency is evaluate and reflect.

Learning outcomes is use of adjectives.

Q6. The spelling of the word is jumbled. Put the letters in correct order and write the word
.BLARME
(A) EMLARB



(B) MARBLE

(C) MABRLE

(D) ELBRAM

Ans: (B)

Explanation: Correct word is marble.

Competency is understanding.

Learning outcomes is infers the meaning of unfamiliar words by reading them in context.

Q7. Fillin the blank . You should take your overcoat . It's cold outside.
(A) absolute

(B)Complete

(c) Extremely

(D) rarely

Ans: (C) Extremely

Explanation- Because extremely is an adjective describing the weather.
Competency is evaluate and reflect.

Learning outcomes is use of adjective..

Q8. The train at 6pm daily.

(A)arrive

(B) arrives

(C) arrival

(D) arriving

Ans: (B)

Explanation- Arrives is the correct form of verb here.
Competency is evaluate and reflect.

Learning outcomes is use of verb.

Q9. Choose the odd pair.

(A)Nurse : patients

(B)Pilot :aeroplane

(C)Waiter :guests

(D)Teacher :students

Ans:(B)

Explanation- Because other pairs are related to the person.
Competency is understanding.



Learning outcomes is infers the meaning of unfamiliar words by reading them in context.
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MATHEMATICS

SYLLABUS:

1. Tick-tick- tick

2. The way the world looks

3. The junk seller

Note: The syllabus is taken from the month of August.

Q1. Kiran bought 1kg plastic for Rs.10 but sold 1kg plastic for Rs.12 . How much money does
she earn on selling 1kg plastic?

(A)Rs. 5
(B)Rs. 2
(C)Rs. 10
(D) Rs.1
Ans: B.

Explanation:
Kiran bought 1kg plastic = Rs.10



Kiran sold 1kg plastic = Rs. 12

So, profit is earned by Kiran here because she sold 1kg plastic at higher price. Therefore,
profit =Rs.12- Rs. 10 =Rs. 2

Competency is application of operations of numbers in daily life.

Learning outcome is applies the concept of measurements.

Q2. How many triangles are there in the given figure?

(A)11

(B)12

(C)10

(D)1

Ans: C

Explanation: 10 because on counting the number of triangles formed in the given
figure we find it to be 10.

Competency is identification of geometrical shapes.

Learning outcome is understanding of shapes.

Q3. The flight from Chennai to Dubai took o at 4:45 hours. It landed in Dubai at 9:15 hours.
How long was the flight?

(A)4 hours 15 minutes

(B) 3 hours 55 minutes

(C)4 hours 30 minutes

(D)4 hours 10 minutes

Ans: C.

Explanation: Calculate the duration of time between the two places that is Chennai and
Dubai.

Time of boarding flight from Chennai to Dubai = 4:45 hours

Time of landing of flight at Dubai = 9: 15 hours

Then find the difference in journey timings.

Competency is relates to the time.

Learning outcome is apply the concept of measurement.



Q4. What will this box look like if you opened it up? Choose the correct picture?

(A) (B)(C) (D)

Ans: A)

Explanation-Boxes here represent the opposite faces of a dice and the sum of numbers
written on the opposite faces of a dice must add up to form sum of 7. In option a) the sum
of numbers written on opposite facesis 7 i.e. 3+4 =7

1+6=7

245 =7

Competency is application in daily life.

Learning outcome is apply the concept of measurement.

Q5. Choose the smallest amount in the following.

(A)5 coins of fifty paise each

(B) 10 coins of one rupee each

(C) 5 coins of five rupees

(D)each 1 coin of twenty rupees

Ans: A.

Explanation: Answer of option a) gives answer 250 paise which is less than the
amount calculated from option b), ¢) and d).

Competency is conversion of units of measurement.

Learning outcome is conversion of unit and money.

Q6. | bought a packet of bread for Rs. 38.50 and a packet of butter for Rs. 59.90 . | gave
shopkeeper a note of Rs. 100 . How much money will | get back?

(A)Rs. 0.16

(B)Rs. 1.06



(C)Rs. 1.60

(D)Rs. 6.06

Ans: C

Explanation: Firstly addition of money for bread and butter will be done and then we
will subtract that sum from 100.

Competency is conversion of units of measurement.

Learning outcome is solving problems related to real life situation.

Q7. | gave shopkeeper Rs. 20 . He has to return me Rs. 4 but he gave me Rs. 5 coin as he
doesn't have change. How much do | need to pay him now?

(A)1

(B)2

(C)3

(D) 4

Correct answer is a)-Rs. 1

Explanation- Money received from shopkeeper = Rs. 5
Actual money to be received from shopkeeper= Rs. 4
So, money to be paid is Rs. 5 - Rs. 4 = Rs. 1Ans: B.
Competency is applies the concept of money.

Learning outcome is application of operations in real life.

Q8. Which of these moves the fastest in a clock?

i A
"""""

(A)Hour hand
(B) Minute hand
(C)Seconds hand
(D) None of the above

Correct option is c)- seconds hand.
Explanation- A clock has 3 hands which are hour hand, minute hand and second hand.
Among these seconds hand moves the fastest.



Competency is concept of time.
Learning outcome is relates to 24 hour clock with respect to 12 hour clock.

Q9. Write the given date in the word form? 05/09/2024

(A)Fifth nine twenty four

(B) Five nine two zero two five

(C)Fifth september twenty twenty four

(D) Fifth september two thousand twenty four

Correct option is d)- fifth september two thousand twenty four

Explanation- The correct format of writing date 05/09/2024 is fifth september two thousand
twenty four.

Competency is understanding.

Learning outcome is writing of dates in properformat.

EVS

SYLLABUS:

1. Changing families

2. Hu -Tu —tu ,Hu -Tu —tu

3. The Valley of flowers

Note: The syllabus is taken from the month of August.

Q1. All families change in some way as the time passes. The reasons maybe

(A)Birth in the family

(B) Death in the family

(C) Marriage

(D)AIl of the above

Correct option is d)- all of the above.

Reason- Birth, death and marriage in a family leads to increase or decrease in the members
of family.

Competency is identification.

Learning outcome is to explain changes in the family.

Q2. Which part of the flower attract insects?



(A)Petals
(B) Sepals
(C)Stigma
(D)Peduncle

Correct option is a)-petals.
Reason- Petals are the coloured part of the flower and attract the insects for pollination.
Competency is interpretation.

Learning outcome is identification of features of flowers.

Q3. Game that doesn't have a central line in the playground is
(A)cricket

(B)hockey

(C)baseball

(D)hututu

Correct answer is a).

Explanation- All the games have a central line except cricket.
Competency is observation.

Learning outcome is able to understand the games.

Q4. What are the different parts of flowers?




(A)Roots and fruits

(B) Leaf, petals, stamen, pollen

(C)Fruits and stem

(D)Stem and roots

Correct option is b)-leaf, petals,stamen, pollen.

Reason- Leaf, petals, stamen, pollen are the different parts of a flower.
Competency is interpretation.

Learning outcome is identification of features of flowers.

Q5. Where does "Valley of flowers" located?

(A)Himachal Pradesh

(B)Kashmir

(C)Uttarakhand

(D)Punjab

Correct option is c)-Uttarakhand

Reason- Valley of flowers national park is located in Chamoli in the state of Uttarakhand.
Competency is identification.

Learning outcome is identification of place.

Q6. What is shown in Madhubani paintings?



(A)Human beings, animals, trees, flowers and birds

(B) Building, metro cities

(C) God and human being

(D)Machines and technology

Correct option is a)- Human beings, animals, trees, flowers and birds.

Reason- Madhubani paintings depicts scenes which includes Human beings, animals, trees,
flowers and birds.

Competency is observation and idenfication.

Learning outcome is record the information.

Q7. Why is having a strong will and determination important?

(A)to eat more ice-cream

(B)to overcome challenges and achieve success

(C)to watch tv all day

(D)to never play outside

Correct option is a)- Human beings, animals, trees, flowers and birds.

Reason- Madhubani paintings depicts scenes which includes Human beings, animals, trees,
flowers and birds.

Competency is understanding.

Learning outcome is records their observation or experiences.

Q8. Who is the Indian queen of "fields and tracks"?



(A)KarnamMalleshwari
(B)Sania Mirza

(C) Mary Kom
(D)P.T.Usha

Correct option is d)-P.T.Usha

Reason- P.T.Usha is one of India's greatest athletes who has dominated Asian tracks and
field events for most of the 1980s winning 23 medals in all ,14 of which were gold.
Competency is observation and identification.

Learning outcome is records their observation or experiences.

Q9. Festivals are important because they help us to

(A) To know our cultures and traditions

(B) To meet members of our family

(C) they bring happiness and enjoyment

(D)all of the above

Correct option is d)- all of the above.

Reason- Festivals are the means which helps in knowing our culture and traditions ,meeting
members of family and the meet ups with the family brings happiness and enjoyment.
Competency is interpretation and analyzing information.

Learning outcome is identify the relationship with and among family members.






